
downdraft PRO 

25799 Jefferson Ave.    Murrieta, CA 92562    1-800-VANIMAN (826-4626)  www.vaniman.com  sales@vaniman.com

DD-Pro-02/24 Page 1

packing list

	

	 1 - Stainless Steel Worktop
	 1 - Worktop Sub-assembly
	 1 - Shield Assembly
	 1 - 1-1/2" Hose End (VMC-1008)
	 2 - #10 x 3/4" Screws
	 2 - 8-32 x 3/8" Screws
	 2 - 8-32 Nuts
	

Assembly Instructions
1.	 Remove the unit and other parts from the box and check against the packing list.

2.	 Use the attached mounting instructions to cut the correct hole in the countertop.

3.	 Set the Stainless Steel Worktop in place.

4.	 Align holes with threaded studs and hold the worktop sub-assembly up while threading the 10-32 nuts on 
the studs.

5.	 Use the #10 screw to secure the sub-assembly to the bottom of the work bench

6.	 Tighten all fasteners.

Replacement Parts
Replacement Shield		  P/N: VMC-1045	

Plumbing Connections
1.5" Grey Hose 2.5" White Hose

DOWNDRAFT PRO BENCH ACCESSORY
           (PN 96060 & PN 96061)

1.5” HOSE END
(PN VMC-1008)

1.5” GRAY HOSE
      (PN 1450)

DOWNDARFT PRO BENCH ACCESSORY
               (PN 96060 & PN 96061)

          1.5” HOSE END 
                        (PN VMC-1008)

2.5” WHITE HOSE
  (PN VMC-1023)



downdraft PRO 

25799 Jefferson Ave.    Murrieta, CA 92562    1-800-VANIMAN (826-4626)  www.vaniman.com  sales@vaniman.com

DD-Pro-02/24 Page 2

 7 5
8 " 

 5 1
4 " 

 4" 

2 9
16 "

Minimum
Recommended

Spacing

 6 3
16 "  R 1

2 " 

Support Hole (bottom)

Tabletop Cutout

Overall Dimensions

1.	 12" Plenum: 2.	 18" Plenum:

 24.00 

 14.00 

 16.1875 

 1.00 

 14.00 

 24.00 

 21.640 

 1.00 

Table top cutout dimensions


